
 

Suceso A= ser calvo            Suceso B= Llevar gafas 

AB={Samuel, Pepe, Pablo, Clara, Ricardo, Germán, Tomás, Guillermo} 

AB={Samuel, Tomas} 

A B  {Jorge,Felipe,Anita,Alfredo,Susana,Paco,Manuel,David,Bernardo,Alejandro,Roberto,     

Pedro, María, Ernesto, Carlos, Ana } 

A B  {Jorge,Felipe,Anita,Alfredo,Susana,Paco,Manuel,David,Bernardo,Alejandro,Roberto,     

Pedro, María, Ernesto, Carlos, Ana } 

A B  { Pepe,Pablo,Clara,Ricardo,Germán, Guillermo, Jorge,Felipe, Anita, Alfredo, Susana, 

Paco,Manuel,David,Bernardo,Alejandro,Roberto, Pedro, María, Ernesto, Carlos, Ana} 

A B  { Pepe,Pablo,Clara,Ricardo,Germán, Guillermo, Jorge,Felipe, Anita, Alfredo, Susana, 

Paco,Manuel,David,Bernardo,Alejandro,Roberto, Pedro, María, Ernesto, Carlos, Ana} 
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